GOWELL"’
ZHES;

SDA Z 3 # A S 4T |

° FTamfFE

1. RFBGEH, FETEEE;

2, EIENREREMLIE, WEH A KR

3, BERRANEMETHLEN, RTEE, B E,;

4, fIfkERE. FESHEENRANEIE, BETE
5, SEEMBEHEREE, REUEFXFE,

°* B S
SDA SDAD SDAJ SSA STA

[ d|]| [ [ fh I JI|]|| IPIM|

LA 1 C A0 1
— —

~B

o KMITHY

zﬁu nfi —rﬂmi mmm zﬁrésaéi
12 10 S: M#A fEI Wﬂ?éﬁ(
SDA :
SR 16 20 e RHRE B.ogy | "TOTRE
! 20 30
JO—— 25 50
SSA : 83 Ll 32 75 -
. 40 100 AL-10REY
£ 50
STA: BB -
< ﬁ 100 N
Z * FRBEEEIM
SDAD : U BAZTH
&,/f"
SDAJ : SUHATEERL
JX};

e RS
PI1E(mm) 12 16 20 25 32 40 50 63 80 100
ERR Sa
- BTEHE EEnE AR
TENER =5
S 0.1~1.0MP.
(REEE : ’
EAzE 0.2-0.9MPa
{RUEMES 1.5MPa
EFREEE -20 ~80°C
N SmHE 30~ 500mm/s 30 ~350mm/s 30 ~250mm/s
= s 50 ~ 500mm/s
EEOR M5x0.8 G1/8" G1/4" G3/8 "



GOWELL’
Y £T

SDA % 5I #2541 |

* NERLEHIE
2
3
a3
@
@D
o B

CRZFLINFRA

DUF4h7E

195



* SMEERSF

SDA12-16 B

A+fTi
B1 C+iTi8
M| P P3|
pall
|
>1 Pary Par}
[MISIl w& %
M
ZER, Fl. IG\o.0
N1 NE

SDA12-16 HMFEY

B+{7#
A+fTiE
H_|B C+i7#8
M P33 P33
P4 ﬂ_—‘ ’—_V P4
J
] {
JI> A A
Ntﬁ e w& N
V'w
Ak |Fl_G\o. o
N N

o R<T%

Z/5S A
Ery PR PR
12 22 32
16 24 34
20 25 35
25 27 37
32 31.5 41.5
40 33 43
50 37 47
63 41 51
80 52 62
100 63 73
R/S N1 N2
172 S=5 S$>5 S=5 S>5
12 7.5 5
16 8 5 | 55
20 8.5 5.5
25 9 5.5
32 9 65 8
40 9 7.5
50 8 105 8 105
63 95 11 95 11
80 115 14 115 14
100 15 20 15 18

A0

)

2

(m1)

1

P1

B C
toER R AER BHRMEY
34 44 17 27
36 46 185 285
40 50 195 295
a4 54 21 31
495 595 245 345
61 71 26 36
65 75 28 38
69 79 32 42
85 95 41 51
101 111 51 61
(¢}
M5x%0.8 Wi ©6.5,
M5x%0.8 Wi ©6.5,
M5x0.8 Wif: 6.5,
M5x0.8 iL: 8.2,
G1/8 ik: 8.2,
G1/8
G1/4
G1/4
G3/8
G3/8

5

5.5
55

© VW N N O

12

36

42

50
58.5
713
84.5
104
124

oF: M5x0.8, iBFl: 4.2
ZF: M5x0.8, i&Fl: 4.2
ZF: M5x0.8, iBFl: 4.2
o M6x1. iEFL: ®4.6
7 M6x1. iEFL: P4.6
WA: @10, F: M8x1.25. i@FL: 6.7
X ®11, F: M8x1.25. i@FL: ®6.7
WA @11, ZF: M8x1.25. i&FL: 6.7
XWih: ®15, ZF: M12x1.75, i@l ©10.3
X ®17.5. ZF: M14x2, &F: ®11.3

oL

GOWELL"’
ZHES;

SDA ZFIHRS4 |

SDA20-100 A&

A-1T78
B C+i# O
M P3 P3 S
P4 T1
[>T ¥
0| &
L. \
W
i
HIEL \s.0
] Iz

SDA20-100 #poFEY

10
12
12
15
15
20
20

B+i77%
A+iTiE
H _|B1 C+f7i2 g R
V) P3 P3
P4
J
>
[\ ) A LY
I/ _w
=1
H| .G 2.0
N1 NZ
F G H | J K K1 L M
4 2 12 M5x0.8 4 8 M3x0.5 10 3
4 2 12 M5x0.8 4 8 M3x0.5 11 3
4 1.5 15 M6x1.0 5 10  M4x0.7 13 &
4 2 17 M8x1.25 6 14  M5x0.8 17 3]
4 3 18  M10x1.25 6 17 M6x%1.0 22 3
4 3 28 M14x1.5 8 22 M8x1.25 28 3
5 4 28 M18x1.5 9 27  M10x1.5 38 &
5 4 28 M18x1.5 9 27  M10x1.5 40 3]
6 5 33 M22x1.5 13 32 M14x1.5 45 4
7 5 38 M26x1.5 12 36 M18x1.5 55 4
P3 P4 R S T1 T2 Vv w X Y
12 45 = 25 16.3 23 6 5 = =
12 45 = 29 19.8 28 6 5 = =
14 4.5 2 34 24 - 8 6 11.2 10
15 5.5 2 40 28 = 10 8 12 10
16 5.5 6 44 34 = 12 10 18 14
20 75 6.5 52 40 = 16 14 21 14
25 85 9.5 75 48 - 20 17 29.5 19
25 85 9.5 62 60 = 20 17 26 19
25 10.5 10 94 74 = 25 22 36 26
30 13 10 114 90 = 32 27 355 26



GOWELL"’
ZHES;

SDA R 3IH#RS4T |

* SMERST

SSA12-16 WFEY

A+TE

SSA20-63 R

B C+i7# ALTE
[THE 4=
B1 C+i7#
M P3, 3l M P3 P3
palll | Pa Pa
1 1
_sH
@‘EI__ \N\ \\ 27}
J >I N N
W / N ;{‘ A4
“&88_|F|_|S \=.0
N1 N2| W
=T \\
I=IE] .0
ENKA N
SSA12-16 HpoFEY SSA20-63 HpFEY
B+iT# B+{7#2
A+iTi A+
H_|s C+ik s H |8 G+
" P3 P3 kD) M P3 P3
»34 I _Pa e Pal [P P4
e @
@Jt g = N N ($ ": 0} = =
g P &)
7 R °&y - > w N A
N NS @ @
5 G / ‘
ZhE__|F 2.0 A
i he . \
=IE] 2.0
N1 N2)
o R
1R/ FS A B C
S0 TR ByaEY TR PR EY f;:2ic] PR EY
Y 0 10 0 10 0 10 0 10 0 10 0 10 D E F G
712 <S<10 <S<30 <S<10 <S<30 <S<10 <S<30 <S<10 <S<30 <S<10 <S<30 <S<10 <S<30
12 32 42 42 52 44 54 54 64 27 37 37 47 5 = 6 4 2
16 34 44 44 54 46 56 56 66 285 385 385 485 55 = 6 4 2
20 35 45 45 55 50 60 60 70 29.5 395 | 395 495 55 36 8 4 1.5
25 37 47 47 57 54 64 64 74 31 41 41 51 6 42 10 4 2
32 415 515 515 615 595 695 695 795 345 445 445 545 7 50 12 4 3
40 43 53 53 63 71 81 81 91 36 46 46 56 7 585 12 4 3
50 47 57 57 67 75 85 85 95 38 48 48 58 9 715 15 5 4
63 51 61 61 71 79 89 89 99 42 52 52 62 9 845 15 5] 4
80 62 72 72 82 95 105 105 115 51 61 61 71 11 104 20 6 5
100 73 83 83 93 111 121 121 131 61 71 71 81 12 124 20 7 5
R/ L N1 N2
1772 M so5 ss5 s=5 s>5 o P1 P3 P4 R S
12 10 3 7.5 5 M5x0.8 l: ©6.5, F: M5x0.8, i@ ©4.2 12 45 - 25
16 1 3 8 5 55 M5x08 Wit P6.5. F: M5x0.8, iB3L: P4.2 12 45 - 29
20 13 3 8.5 55 M5x0.8 it 6.5, F: M5x0.8. iE7L: ©4.2 14 45 2 34
25 17 3 9 5.5 M5x0.8 W 082, F: Méx1, iEFl: 046 15 55 2 40
32 22 3 9 65 8 G1/8 W ©8.2, F: M6x1. iEF: 4.6 16 5.5 6 44
40 28 3 9 75 G1/8 itz @10, F: M8x1.25, iBl: 967 20 75 65 52
50 38 3 8 105 8 105 G1/4 X ©11, F: M8x1.25, i8L: 96.7 25 85 95 75
63 40 3 95 11 95 11 G1/4 X @11, F: M8x1.25, iBL: 967 25 85 95 62
80 45 4 115 14 15 14 G3/8 Rz ©15, F: M12x1.75, &7 0103 25 105 10 94
100 55 4 15 20 15 18 G3/8 S P17.5, F: M14x2, B3l d11.3 30 13 10 114

197

fran )

f\\#

T1

163

19.8
24
28
34
40
48
60
74
90

&

o)
&

0o

N

a

©

SR
]

1tz
N

G

M5x0.8

M5x0.8
M6x1.0
M8x1.25
M10x1.25
M14x1.5
M18x1.5

O W W O o u b~ b

M18x1.5
M22x1.5

-
N W

M26x1.5

® oo <

I~

S
&

(X)
T1

K1

M3x0.5
M3x0.5
M4x0.7
M5x0.8
M6x1.0
M8x1.25
M10x1.5
M10x1.5
M14x1.5
M18x1.5

55




* SpEERSF

STA12-16 8L

A+iFiE X2
B1+7E C+718
M 123, 23
P4, | |
1 1
_I‘>
NS K
w_/
—Em | FHTE| _1G\5s o
N NE

STA12-16 HhFEL

GOWELL"’
ZHES;

SDA #3EE KL

STA20-63 WFEY

AHfTREX2
B1+TE C+iTi
P3 P3
P4
M
oo =
= e
| EI. D 4
wW
i am
F+17#|| G o.0
1 Ng

STA20-63 S8

B+{7iEX2 P
ATEXE B+§E—?§izx£
H | 51-07E c+mgp3 S H [ B1+6E C+i3’ 2 A
M — ] =Ic] P
o M T
g || B Pa_| 1. P4 K
: i
IS Y = @ ey (&
RIS ¢ X K 2N
> g =
Vi 5] ¢ } i D \\QD/‘/ Eﬁ o
“ER | IR TG\ 5 o : \&/
N V w o)
“ak _ 4-p1 2
F+i1#|| G .0
[ e
e R~t%&
HR/S A B C
Eidiay ;i) gl FRAERL ngrich TR ingeish
. o 10 0 10 0 10 0 10 0 0 0 o BT D E F G H I J K K1
FTRE <5<10 <530 <S<10 <S<30 <S<10 <S<30 <S<10 <5<30 <S<10 <S<30 <S<10 <S<30
12 32 42 42 52 44 54 54 64 27 37 37 47 5 = 6 4 2 12 M5x0.8 4 8 M3x0.5
16 34 44 44 54 46 56 56 66 285 385 385 485 55 © 6 4 2 12 M5x0.8 4 8 M3x0.5
20 35 45 45 55 50 60 60 70 295 [ 395 395 495 55 36 8 4 1.5 15 M6x1.0 5 10 M4x0.7
25 37 47 47 57 54 64 64 74 31 41 41 51 6 42 10 4 2 17 M8x1.25 6 14 M5x0.8
32 415 515 515 615 595 695 695 795 345 445 445 545 7 50 12 4 3 18  M10x1.25 6 17 M6x1.0
40 43 53 53 63 71 81 81 91 36 46 46 56 7 585 12 4 3 28 M14x1.5 8 22 M8x1.25
50 47 57 57 67 75 85 85 95 38 48 48 58 9 715 15 3 4 28 M18x1.5 9 27 M10x1.5
63 51 61 61 71 79 89 89 99 42 52 52 62 9 845 15 5 4 28 M18x1.5 9 27 M10x1.5
80 62 72 72 82 95 105 105 115 51 61 61 71 11 104 20 6 5 33 M22x1.5 13 32 M14x1.5
100 73 83 83 93 111 121 121 131 61 71 71 81 12 124 20 7 5 38 M26x1.5 12 36 M18x1.5
RS L M N1 N2
752 S=5 (S5 S=5 S>5 o P1 P3 P4 R S T1 T2 Y W X Y
12 10 3 75 5 M5x0.8 il P65, F: M5x0.8, JHHL: 042 12 a5 - 25 163 23 6 5 -
16 1 3 8 5 55  Msx08 Tt P65, F: M5x0.8, JEHL: 4.2 12 s - 29 198 28 6 s - -
20 13 3 85 55 M5x0.8 Ttz P65, F: M5x0.8, iHL: ©4.2 14 45 2 34 2 - 8 6 112 10
25 17 3 9 55 M5x08 Ttz P82, F: M6x1. iHH: 046 1555 2 w0 28 - 10 8 12 10
32 22 3 9 65 8 G1/8 Witz @82, F: M6x1. i@l 046 16 55 6 3 = 12 10 18 14
0 28 3 9 75 G1/8 Wit P10, F: M8x125, i@ 967 20 |75 65 52 40 - 16 14 21 14
50 38 3 8 105 8 105  Gl/4 Wiz O11, F: M8x125, B 067 25 85 95 75 48 - 0 17 295 19
63 40 3 95 11 95 11 G4 Witz O11, F: M8x125, i@Hl: 967 5 85 95 & 60 - 20 17 2 19
80 45 4 115 14 115 14 G3/8 Wit ©15, F: M12x1.75, iBA: 10.3 25 105 10 94 74 - 5 2 36 2
100 55 4 15 20 15 18 G3/8 Tt G175, F: M14x2, i@l 0113 30 13 10 14 9 = 32 | 27 35 | 2



GOWELL’

248 S5

SDA RIERIF

* SMERST

|

SDAD12-16 RN &Y

A+fTEX2
B1+478, C+{7# , B1
M 123 23 | v
Pa [ =2
o
it > S
SHSE S a

F+i718

G\o.00

N

SDAD12-16 4poFEY

B+iTiEx2
A+TEX2
H | B1+78 C+i7# Bl H
P35 PR3 [
M ra [T INEES
s : A gy
Si&l > 5-lecEz o
Wi /] AN F‘
ak |<F+T1 | G\p. o0
N N1
o RT3k
/S A B C 1 D
25 TOER IR fOER MIEE fOER MRS
12 27 37 51 61 17 27 5 -
16 295 395 535 635 185 285 55 -
20 305 405 605 705 195 295 55 36
25 33 43 67 77 21 31 6 42
32 385 485 745 845 245 345 7 50
40 40 50 9% 106 26 36 7 585
50 46 56 102 112 28 38 9 715
63 50 60 106 116 32 42 9 845
80 63 73 129 139 41 51 11 104
100 75 85 151 161 51 61 12 124
RS (0] P1
12 M5x0.8 Xif: P6.5. F: M5x0.8, JBFL: D4.2
16 M5x0.8 XA ©6.5. FF: M5x0.8, iBFL: ©4.2
20 M5x0.8 Xif: P6.5. F: M5x0.8, JBFL: ©4.2
25 M5x0.8 XWifk: ©8.2. F: M6x1. @7 P4.6
32 G1/8 Wi: ©8.2. F: M6x1, i@FL: P46
40 G1/8 i @10, ZF: M8x1.25. i#Fl: 6.7
50 G1/4 i @11, ZF: M8x1.25. il ©6.7
63 G1/4 Wi @11, ZF: M8x1.25, ifFl: 6.7
80 G3/8 Sk ®15, F: M12x1.75, i@l ®10.3
100 G3/8 i ®17.5, F: M14x2, @7l ©11.3

199

10
12
12
15
15
20
20

SDAD20-100 NZFEY

A+t X2
B1+i% C+{7#8 B1 D
N s B3 P3| [ wm s R
i PA T1’\ L
KENE
1 B > = <
sl ———o il )
W \ <IEEFANT oy
ZEk _ Y 4-p 1 X A
F+78|| & \p.o IGF
N1 NT
SDAD20-100 4pEFEY
B4{T#EX2
A+TEXES
H B1+7# C+i7# B1_H D
M P3 232 L™ = =
P4 | | PAa K
o] o O P @
WA
> =7 (K/\ N
@1 Slt i \? { &e &L &% >¢5 |0
7 R —
/W
= R ()
F+i7i2 || 5 2.0 G |IF
Vil NI
N1
E G H | J K K1 L M
S=5 S>5
4 2 12 M5x0.8 4 8 M3x0.5 10 3 55 6.5
4 12 M5x0.8 4 8 M3x0.5 11 3 65 75
4 1.5 15 M6x1.0 5 10 M4x0.7 13 3 7.5
4 2 17 M8x1.25 6 14 M5x0.8 17 3 8
4 3 18 M10x1.25 6 17 M6x1.0 22 3 8 9
4 3 28 M14x1.5 8 22 M8x1.25 28 3 8 10.5
5 4 28 M18x1.5 9 27  M10x1.5 38 3 8 10
5 4 28 M18x1.5 9 27  M10x1.5 40 3 9.5 11
6 5 3 M22x1.5 13 32 M14x15 45 4 115 14
7 5 38 M26x1.5 12 36 M18x15 55 4 15 20
P3 P4 R S T1 T2 V W X Y
12 4.5 = 25 16.3 23 6 5 = =
12 4.5 o 29 19.8 28 6 5 o =
14 4.5 2 34 24 o 8 6 11.2 10
15 55 2 40 28 = 10 8 12 10
16 55 6 44 34 o 12 10 18 14
20 7.5 6.5 52 40 o 16 14 21 14
25 8.5 9.5 75 48 o 20 17 29.5 19
25 8.5 9.5 62 60 = 20 17 26 19
25 10.5 10 94 74 o 25 22 36 26
30 13 10 114 90 o 32 27 B5i5 26




GOWELL"’
ZHES;

SDA ZFIHRS4 |

* SpEERSF

SDAJ20-100 HZFEY

AHTIEX2 +iFETE
D O+fTi+E%T# C+iT#e B1
= S GHATE P3 P3 M
T P4 P4
<0
N \Z/ o]
oo SN q =7
o5 %> @ & 18l
1 D A K1RE \ W
I\ FA 4-P1 a1
G 5.0 G
N N7
SDAJ20-100 45
B+{TEX2+B¥TE
o A+ITIEX2+ERITE
= S O+HTR+A%E C+i7i Bl H
T Q+HBETE P3 P3 M
P4 P4
fran) 7anY J
& @ ]
| & | y o 1=‘ h N >
EBEBRUE dg 2 > &
) AN
| O =@ \
LN I 4-p1 x 5%
G -0 G_H
N1 N7
o R~I%
H2/fFS A B C N1
N 5 - 5 Bl D E F G H I J K K1 L M
B AR R FRAR MR ARER S=5 S>5
12 41 51 53 63 17 27 5 - 6 4 2 12 M5x08 4 8 M3x05 10 3 55 65
16 43 53 55 65 185 285 55 - 6 4 2 12 M5x08 4 8 M3x05 11 3 65 75
20 475 575 625 725 195 295 55 36 8 4 15 15 Méx10 5 10 M4x07 13 3 75
25 53 63 70 80 21 31 6 42 10 4 2 17 M8x1.25 6 14 M5x0.8 17 3 8
32 615 715 795 895 245 345 7 50 12 4 3 18 MI10x125 6 17 M6x10 22 3 8 9
40 64 74 22 102 26 36 7 585 12 4 3 28 Mil4x15 8 22 M8x125 28 3 8 105
50 70 80 9g 108 28 38 9 715 15 5 4 28 Mi8x15 9 27 M10x1.5 38 3 8 10
63 74 84 102 112 32 42 9 85 15 5 4 28 Mi8x15 9 27 M10x15 40 3 95 1
80 925 1025 1255 1355 41 51 11 104 20 6 5 33 M22x15 13 32 Mi4x15 45 4 115 14
100 1105 1205 1485 1585 51 61 12 124 20 7 5 38 M26x1.5 12 36 MI18x15 55 4 15 20
R/ O P1 P3 P4 R S T1 T2 \ W X Y
12 M5x0.8 Wiz P6.5. F: M5x0.8. BFL: 4.2 12 45 - 25 163 23 6 5 - -
16 M5x0.8 Wiz P6.5. ZF: M5x0.8. BFL: 4.2 12 45 - 29 19.8 28 6 5 - -
20 M5x0.8 XGh: 6.5, ZF: M5x0.8, iBFL: ®4.2 14 4.5 2 34 24 o 8 6 11.2 10
25 M5x0.8 Wiz P8.2. F: M6x1. i@ P4.6 15 55 2 40 28 - 10 8 12 10
32 G1/8 Witz P8.2. F: M6x1. i@ P4.6 16 55 6 44 34 - 12 10 18 14
40 G1/8 B: 010, F: M8x1.25, i@FL: ©6.7 20 75 6.5 52 40 - 16 14 21 14
50 G1/4 : ©11. F: M8x1.25, i@7l: ©6.7 25 85 95 75 48 - 20 17 295 19
63 Gl1/4 : 11, F: M8x1.25, i@Fl: 06.7 25 85 95 62 60 - 20 17 26 19
80 G3/8 A P15, F: M12x1.75, @7l 9103 25 105 10 94 74 - 25 22 36 26
100 G3/8 Wi P17.5. F: M14x2, i@l d11.3 30 13 10 114 90 - 32 27 355 26



	经纬PDF A4-1 213
	经纬PDF A4-1 214
	经纬PDF A4-1 215
	经纬PDF A4-1 216
	经纬PDF A4-1 217
	经纬PDF A4-1 218
	经纬PDF A4-1 219



